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No.4 14:05 C-1 15000m
Tviry K # X ¥ JE 2 B A
2 E 8 E B H A #® & X # 1 80 31 43
1 m = E B M E 2k X2 2 83 20 53
9 X H Mmoo B & # X % 3 83 30 13
5 N F S H A #® & X # 4 84 20 60
3 o H s {h H XK JF X ZF 5 87 45 52
7 R ®OE H A #®&F X % 6 88 43 39
6 = B B = H A #® & X # 7 90 18 67
4 X E B F H XK JF X ZF 8 90 28 87
8 N E B A R #® X = 9 99 08 15
10 A 5n 2 H I ¥ K ¥ 2

I3

EYEHE AHATE

AEEE

.



No.1 13:00 WK-1 10000m

Tviry K # X ¥ JE 2 B A

72 F W M OE R HEIN&ZF XP 1 49 51 18
80 E R B K HEINXFKXKE 2 49 53 54
78 H @ 2 F HEIINXFXE 3 49 56 01
77 'R Mm = HEIN&ZF XP 4 50 42 49
68 & il £ B ¥ R K% 5 50 46 37
74 I + @ REIIN&XF K2 6 50 53 18
84 = H = X HEIN&ZF XP 7 51 49 42
73 R AN KEIN&xF KXF 8 51 52 78
79 I T F REIJIN&XF KXF 9 52 01 58
83 L X B # F HEINZFKXKFE| 10 52 03 26
76 i B T HEINXFXE| 52 27 61
75 CiL B % REINZTF XZE | 12 52 33 85
71 L H moow B & # XK %[ 13 52 35 70
60 E B F & ERETFTHREBEXRE 14 52 35 94
81 MR F & REIJIN&XF KXF 15 52 38 57
82 7 s <5 HEINZFKXKFE| 16 53 05 84
67 P x = Bk K% 17 53 30 76
62 H E 4% ERZFAHRBEXRFE | 18 53 43 90
59 B O Im = RERXFHEREKXRE 19 53 58 10
61 w AR x X F ERXFAHRBKRE | 20 55 43 19
66 B %2 B [ H A #® A X% | 21 56 46 71
70 t ® M g B ¥ kR X ¥ | 22 56 55 94
64 il * 1t H A ®KX&A X ¥ [ 23 57 02 09
65 % i72 & H A K& K F | 24 57 28 52
58 R 5 = H L X % | 25 57 50 23
63 I B B H X & & XK % | 26 58 39 49
69 m R X W% | B @ ¥R K Z| 27 LB
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No.2

13:05 WC-1 10000m

Tviry K # X ¥ JE 2 B A
57 rr 5 = HEIN&ZF XP 1 57 18 18
56 * 13 T F REIINZXF KXF 2 57 34 85
52 X 1B b ERZFAREKRE 3 58 41 29
55 B & g E HEINXFKXKE 4 61 27 64
54 G F K m F X % 5 62 28 65
51 = B E % B R ¥ kR K ¥ 6 62 36 49
53 i Z & ERZFAREKRFE 7 69 59 50
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